ApPTHUKYZ HamMeHoBaHMe Kon

BuuT M5x16

BuuT M4x10

BuHT M4x12

Kopnyc pydkHM IpPaBHIL

Pesuuka mHypa

Ilnyp ceTeBOM

[lnmacTMHA IIPUMXMMHAaAd

Ne

1 10
2 1
3 4
4 1
5 1
6 1
7 1
8 |792-773-006 KoHmeHcaTop 1
9 120-0078 MUKPOBEIKJIIOUATETb 1
10 IIpoBOn 1
11 |792-827-011 Knasuma 1
12 |792-827-012 [IpyxnHa 1
13 |792-827-013 Ban OJIOKMPOBKU 1
14 [Iposoq 1
15 |792-827-015 Barayumka 1
16 [IpoBoOxn 1
17 [Iposoq 2
18 |20-0073 MMKPOBEIKJIOYATEIb 1
19 TpyBOka TepMOoycCalodHasd 1
20 BuuT M3%8 1
21 |792-810-043 [IpyXrHa TOPMO3a 1
22 1

Kopnyc pydkKHu JIEBEBIM

Momesib
[nna eIlHasl 3JIeKTpndecCkKas
H P CSE240L
Technical department Assembly drawing
Engineer, chief designer John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA | Page 1




Ne ApTHUKYI HamMeHOBaHME Koxn
23 ]1792-810-015 [Ipobka mWeTKOIepPXaTeJlsd 2
24 |792-827-024 lleTxkr rpadUTOBEE 1
25 lleTkomepXxaTesb 2
26 Kopniyc craropa (25,26) 1
27 |792-827-027 CraTop 1
28 |792-810-022 Tsara 1
29 1792-810-021 [IpyxunHa 1
30 Buut M4x60 2
31 |792-810-033 [[EBUIBHUK CTaTopa 1
32 ByunuT M3x12 3
33 MomumnHuk 608 2
34 |792-827-034 dxopb (33,34,35) 1
35 HDomumnumuk 6000 2
36 |792-827-036 llecTepHsa fAKOpPSA 1
37 T'arika 1
38 1792-827-038 Pyuka-nyra 1
Mogpernb
[Inna uenHasi SJIeKTpn4YecKas CSE240L

Technical department

Assembly drawing

Engineer,

chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT,

USA

Page 2




Ne ApTHUKYI HamMeHOBaHME Koxn
39

40 |792-827-039 [IlpoBbra maciobaka 1
41

42 BuuT M5x30

43 Kopnyc penyxTopa 1
44 1792-827-044 Kopnyc mecTepHM

45

46

47 |792-827-045 llecTepHsa B cbope 1
48

49

50 [792-827-050 [IEJIBHMK MEeCTEepPHU 1
51 BuurT M4x16 7
52 |792-810-066 KpoHUWTENH 1
53 larba 1
54 1792-810-062 pyxnHa 1
55 [792-810-064 Tara 1
56 [792-810-065 MrudpT 1
57 1792-810-063 IlTox TOpPMO3a 1
58 [792-810-061 [InmacTuHa 1
59 BuHT M3%6 2
60 Pyuka TOpMO3a 1

Mogpernb
[Inna uenHasi SJIeKTpn4YecKas CSE240L
Technical department Assembly drawing

Engineer, chief designer John Emerson Jr.
DYNAMIC DRIVE EQUIPMENT, USA | Page 3




Ne ApTHUKYI HamMeHOBaHME Koxn
61
62
63
64 |792-827-061 Bak MaCJIsSHEIM 1
65
66
67
68 |792-810-045 MacJjioHacoc 1
69 [IJJaHT MaCJISSHBIMA 1
70 liTyliep MacjoHacoca 1
71 |792-810-088 Konb1o yYHNJIOTHUTEJILHOE 2
0]
Mogpernb
[Inna uenHasi SJIeKTpn4YecKas CSE240L
Technical department Assembly drawing
Engineer, chief designer John Emerson Jr.
DYNAMIC DRIVE EQUIPMENT, USA | Page 4




Ne ApTHUKYI HamMeHOBaHME Koxn
72 BuHT M4x10 6
73 Kpellka KOpIycCa penykTopa 1
74 BuuT M5x55 1
75 1792-827-075 YIop pe3MHOBEHIM 1
76 |792-827-076 BonT KpenjieHUs UWMHEL 1
77 |792-827-077 BcTaBka 1
78 |792-803-083 [IpyXMHa 3BE3I0UKMU 1
79 |792-773-055 3Bes3nouka Benylas 1
80 |792-773-056 Kosnbpllo CTONOPHOE 1
81 |792-773-054 YnJoTHeHME MacJioKaHalla 1
82 |792-827-082 [InmacTuHAa 1
83 ByuT M5x35 2
84 Ynop 3yOuaTel 1
85 BuHT 1
89 |792-827-089 HaTaxuTesnb Lenu 1
90

91

52 792-827-091 Kpelika LWMHEL 1
93

Mogpernb

[Inna uenHasi SJIeKTpn4YecKas CSE240L

Technical department

Assembly drawing

Engineer,

chief designer John

Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA |

Page 5




